

On existence of solutions of a neutral differential equation with deviating argument

LESZEK OLSZOWY

Department of Mathematics, Rzeszów University of Technology,

ul. Wincentego Pola 2, 35-959 Rzeszów, Poland

E-mail: lolszowy@prz.edu.pl

Received November 5, 2008. Revised April 5, 2009

ABSTRACT

We establish theorems on the existence and asymptotic characterization of solutions of a differential equation of neutral type with deviated argument on neutral type. The mentioned differential equation admits both delayed and advanced arguments. In our considerations we use technique linking measures of noncompactness with the Tikhonov fixed point principle in suitable Frechet space. This approach admits us to improve and extend some results.

1. Introduction

The aim of the present paper is an improvement to the results contained in papers [4, 11], concerning the existence and asymptotic behaviour of solutions of the following neutral differential equation with deviating argument

$$y'(t) = f(t, y(H(t)), y'(h(t))), \quad \text{where } t \in \mathbb{R} = [0, \infty) \quad (1)$$

with the initial condition of the form

$$y(0) = 0. \quad (2)$$

The problem (1)-(2) was considered in [4, 11] (see also [1, 2, 3, 6, 7, 8, 9, 12, 13]) under strong assumptions. Authors obtained their results by using two-component measure of noncompactness in the Banach space $C_p(\mathbb{R}_+)$ consisting of all continuous functions on \mathbb{R}_+ and tempered by p .

Keywords: Neutral differential equation with deviating argument, asymptotic behaviour, measure of noncompactness, Tikhonov fixed point theorem.

MSC2000: Primary 47H09; Secondary 45G10.

In this paper we improve those existence theorems and formulate our assumptions in more concise form. This aim is achieved in virtue of conjunction of an appropriate one-component measure of noncompactness in a Frechet space and Tikhonov fixed point principle.

2. Notation and auxiliary facts

For further purposes, we collect in this section a few auxiliary results which will be needed in the sequel.

Consider

$$C(\mathbb{R}_+) = \{x : \mathbb{R}_+ \rightarrow \mathbb{R}, \ x \text{ continuous}\},$$

equipped with the family of seminorms $|x|_n = \sup \{|x(t)| : t \in [0, n]\}$, $n \in \mathbb{N}$. $C(\mathbb{R}_+)$ becomes a Fréchet space furnished with the distance

$$d(x, y) = \sup \left\{ 2^{-n} \frac{|x - y|_n}{1 + |x - y|_n} : n \in \mathbb{N} \right\}.$$

It is known that $C(\mathbb{R}_+)$ is a locally convex space.

Let us recall the following fact:

- (A) a sequence (x_n) is convergent to x in $C(\mathbb{R}_+)$ if and only if (x_n) is uniformly convergent to x on compact subsets of \mathbb{R}_+ .

If X is a subset of $C(\mathbb{R}_+)$, then \overline{X} and $\text{Conv}X$ denote the closure and convex closure of X , respectively. We use the symbols λX and $X + Y$ to denote the algebraic operations on sets. Moreover, the symbol \mathfrak{M}_C denotes the family of all nonempty subsets of $C(\mathbb{R}_+)$ consisting of functions uniformly bounded on compact intervals of \mathbb{R}_+ i.e.

$$\mathfrak{M}_C = \left\{ X \subset C(\mathbb{R}_+) : X \neq \emptyset \text{ and } \forall T > 0 \sup \{|x(t)| : x \in X, t \leq T\} < \infty \right\},$$

while \mathfrak{N}_C stands for its subfamily consisting of all relatively compact sets.

Now, we recall the definition of quantities which will be used in our further investigations. These ones was introduced and studied in [5].

Let $X \in \mathfrak{M}_C$. Fix $T > 0$, $\varepsilon > 0$ and let us denote

$$\omega^T(x, \varepsilon) = \sup \{|x(t) - x(s)| : t, s \in [0, T], |t - s| \leq \varepsilon\}.$$

Further, let us put:

$$\omega^T(X, \varepsilon) = \sup \{\omega^T(x, \varepsilon) : x \in X\},$$

$$\omega_0^T(X) = \lim_{\varepsilon \rightarrow 0} \omega^T(X, \varepsilon),$$

$$\omega_0(X) = \lim_{T \rightarrow \infty} \omega_0^T(X).$$

The mapping $\omega_0 : \mathfrak{M}_C \rightarrow [0, \infty]$ is called a *measure of noncompactness* and it satisfies the following conditions (see [10]):

- 1° the family $\ker \omega_0 = \{X \in \mathfrak{M}_C : \omega_0(X) = 0\} = \mathfrak{N}_C$,
- 2° $X \subset Y \Rightarrow \omega_0(X) \leq \omega_0(Y)$,
- 3° $\omega_0(\overline{X}) = \omega_0(\text{Conv}X) = \omega_0(X)$,
- 4° $\omega_0(\lambda X + (1 - \lambda)Y) \leq \lambda\omega_0(X) + (1 - \lambda)\omega_0(Y)$ for $\lambda \in [0, 1]$.
- 5° If (X_n) is a sequence of closed sets from \mathfrak{M}_C such that $X_{n+1} \subset X_n$ ($n = 1, 2, \dots$) and if $\lim_{n \rightarrow \infty} \omega_0(X_n) = 0$ then the set $X_\infty = \bigcap_{n=1}^{\infty} X_n$ is nonempty.

The family $\ker \mu$ defined in 1° is called *the kernel of the measure of noncompactness* μ .

Other facts concerning measures of noncompactness may be found in [5].

3. Main result

This section is devoted to the study of the differential equation with deviating argument (1) with the initial condition (2). The problem (1)-(2) will be investigated under the following assumptions:

- (H₁) the function $f : \mathbb{R}_+ \times \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ is continuous and there exists a constant $k < 1$ such that

$$|f(t, x, y_1) - f(t, x, y_2)| \leq k|y_1 - y_2|$$

for all $t \in \mathbb{R}_+$ and $x, y_1, y_2 \in \mathbb{R}$,

- (H₂) $h : \mathbb{R}_+ \rightarrow \mathbb{R}_+$ and $H : \mathbb{R}_+ \rightarrow \mathbb{R}_+$ are continuous functions such that $h(t) \leq t$,
 (H₃) there exist a continuous functions A and $B : \mathbb{R}_+ \rightarrow (0, \infty)$ such that the following inequality

$$|f(t, x, 0)| \leq A(t) + B(t)|x|$$

holds for each $t \in \mathbb{R}_+$ and $x \in \mathbb{R}$,

- (H₄) there is a nondecreasing function $\psi : \mathbb{R}_+ \rightarrow \mathbb{R}_+$ satisfying the following inequality

$$A(t) + B(t) \int_0^{H(t)} \psi(\tau) d\tau \leq (1 - k)\psi(t). \quad (3)$$

Now, let us put $x(t) = y'(t)$. Then the problem (1)-(2) can be replaced equivalently by the following functional-integral equation

$$x(t) = f\left(t, \int_0^{H(t)} x(s) ds, x(h(t))\right), \quad t \in \mathbb{R}_+. \quad (4)$$

In the sequel we will examine the equation (4).

Now, we formulate the first general result of the paper.

Theorem 3.1

Under the assumptions (H_1) - (H_4) the equation (4) has at least one solution $x \in C(\mathbb{R}_+)$ such that $|x(t)| \leq \psi(t)$ for $t \geq 0$.

Proof. Let us consider the operator F defined on the space $C(\mathbb{R}_+)$ by the formula

$$(Fx)(t) = f\left(t, \int_0^{H(t)} x(s)ds, x(h(t))\right), \quad t \geq 0.$$

Observe that in view of assumptions (H_1) and (H_2) , the function Fx is continuous on \mathbb{R}_+ for any $x \in C(\mathbb{R}_+)$, i.e. F transforms the space $C(\mathbb{R}_+)$ into itself.

Let us denote: $\bar{H}(t) = \sup_{s \leq t} H(s)$.

In what follows let us fix $T > 0$ and $\varepsilon > 0$. Next, take any $t, s \in [0, T]$ with $|t - s| \leq \varepsilon$. Then, for arbitrarily fixed $x \in C(\mathbb{R}_+)$ such that $|x(t)| \leq \psi(t)$ for $t \geq 0$ we get

$$\begin{aligned} |(Fx)(t) - (Fx)(s)| &\leq \left| f\left(t, \int_0^{H(t)} x(\tau)d\tau, x(h(t))\right) - f\left(s, \int_0^{H(t)} x(\tau)d\tau, x(h(t))\right) \right| \\ &\quad + \left| f\left(s, \int_0^{H(t)} x(\tau)d\tau, x(h(t))\right) - f\left(s, \int_0^{H(s)} x(\tau)d\tau, x(h(t))\right) \right| \\ &\quad + \left| f\left(s, \int_0^{H(s)} x(\tau)d\tau, x(h(t))\right) - f\left(s, \int_0^{H(s)} x(\tau)d\tau, x(h(s))\right) \right|. \end{aligned}$$

Hence, in view of the assumption (H_1) we get

$$\omega^T(Fx, \varepsilon) \leq \nu_1^T(f, \varepsilon) + \nu_2^T(f, \omega^T(H, \varepsilon) \cdot \psi(T)) + k\omega^T(x, \omega^T(h, \varepsilon)), \quad (5)$$

where we denoted

$$\nu_1^T(f, \varepsilon) = \sup \left\{ |f(s, x, y) - f(t, x, y)| : t, s \in [0, T], |t - s| \leq \varepsilon, \right.$$

$$\left. |x| \leq \int_0^{\bar{H}(T)} \psi(\tau)d\tau, |y| \leq \psi(T) \right\},$$

$$\nu_2^T(f, \varepsilon) = \sup \left\{ |f(s, x_1, y) - f(s, x_2, y)| : s \in [0, T], |x_1 - x_2| \leq \varepsilon, \right.$$

$$\left. |x_1|, |x_2| \leq \int_0^{\bar{H}(T)} \psi(\tau)d\tau, |y| \leq \psi(T) \right\}.$$

Let us observe that the uniform continuity of the functions $f(t, x, y)$, $h(t)$ and $H(t)$ on compact subsets of $\mathbb{R}_+ \times \mathbb{R} \times \mathbb{R}$ and \mathbb{R}_+ implies that the functions $\nu_1^T(f, \varepsilon)$, $\nu_2^T(f, \varepsilon)$, $\omega^T(h, \varepsilon)$, $\omega^T(H, \varepsilon) \rightarrow 0$ when $\varepsilon \rightarrow 0$ for fixed arbitrary $T > 0$.

Next we denote

$$\xi_0(T, \varepsilon) = \nu_1^T(f, \varepsilon) + \nu_2^T(f, \omega^T(H, \varepsilon) \cdot \psi(T)),$$

and we put

$$\xi_{n+1}(T, \varepsilon) = \xi_n(T, \omega^T(h, \varepsilon)) \quad \text{for } n = 0, 1, 2, \dots$$

Let us consider the series

$$\sum_{n=0}^{\infty} k^n \xi_n(T, \varepsilon).$$

For fixed $T > 0$ all functions $\xi_n(T, \varepsilon)$ are uniformly bounded for $\varepsilon \geq 0$ and $n = 0, 1, 2, \dots$. This implies that the series is convergent for any $T > 0$ and $\varepsilon \geq 0$. Obviously $\xi_n(T, \varepsilon) \rightarrow 0$ when $\varepsilon \rightarrow 0$.

Next, we define the set Ω in the space $C(\mathbb{R}_+)$ as follows

$$\Omega = \left\{ x \in C(\mathbb{R}_+) : |x(t)| \leq \psi(t) \text{ for } t \geq 0 \text{ and } \omega^T(x, \varepsilon) \leq \sum_{n=0}^{\infty} k^n \xi_n(T, \varepsilon) \text{ for } T \geq 0 \right\}.$$

Keeping in mind the fact (A) and the convexity of $\omega^T(x, \varepsilon)$ we deduce that Ω is closed, convex and nonempty subset of $C(\mathbb{R}_+)$.

We now proceed to show that $F : \Omega \rightarrow \Omega$. Let $x \in \Omega$. Taking into account the assumptions (H_1) - (H_4) we obtain the following chain of inequalities

$$\begin{aligned} |(Fx)(t)| &\leq \left| f\left(t, \int_0^{H(t)} x(\tau) d\tau, x(h(t))\right) - f\left(t, \int_0^{H(t)} x(\tau) d\tau, 0\right) \right| \\ &\quad + \left| f\left(t, \int_0^{H(t)} x(\tau) d\tau, 0\right) \right| \leq k|x(h(t))| + A(t) + B(t) \int_0^{H(t)} |x(\tau)| d\tau \\ &\leq k|\psi(h(t))| + A(t) + B(t) \int_0^{H(t)} \psi(\tau) d\tau \leq k\psi(t) + (1-k)\psi(t) = \psi(t) \end{aligned}$$

i.e. $|(Fx)(t)| \leq \psi(t)$.

Moreover, in the light of (5), above notations and the definition of the set Ω we derive

$$\begin{aligned} \omega^T(Fx, \varepsilon) &\leq \nu_1^T(f, \varepsilon) + \nu_2^T(f, \omega^T(H, \varepsilon) \cdot \psi(T)) + k\omega^T(x, \omega^T(h, \varepsilon)) \\ &\leq \xi_0(T, \varepsilon) + k \sum_{n=0}^{\infty} k^n \xi_n(T, \omega^T(h, \varepsilon)) = \xi_0(T, \varepsilon) \\ &\quad + \sum_{n=0}^{\infty} k^{n+1} \xi_{n+1}(T, \varepsilon) = \sum_{n=0}^{\infty} k^n \xi_n(T, \varepsilon) \end{aligned}$$

so $\omega^T(Fx, \varepsilon) \leq \sum_{n=0}^{\infty} k^n \xi_n(T, \varepsilon)$ and $F : \Omega \rightarrow \Omega$.

Next, let us notice that $\omega^T(\Omega, \varepsilon) \leq \sum_{n=0}^{\infty} k^n \xi_n(T, \varepsilon)$, and when $\varepsilon \rightarrow 0$ we obtain $\omega_0^T(\Omega) = 0$ and $\omega_0(\Omega) = 0$, hence, in view of 1° we infer that Ω is compact.

Finally, we prove that F is continuous on Ω . Let $x, x_n \in \Omega$ and $x_n \rightarrow x$ in $C(\mathbb{R}_+)$ i.e. $x_n \rightarrow x$ uniformly on every bounded interval. Let $T > 0$. Keeping in mind the assumptions (H_1) and previous notations we obtain

$$\begin{aligned} |(Fx)(t) - (Fx_n)(t)| &\leq \left| f\left(t, \int_0^{H(t)} x(\tau) d\tau, x(h(t))\right) - f\left(t, \int_0^{H(t)} x(\tau) d\tau, x_n(h(t))\right) \right| \\ &\quad + \left| f\left(t, \int_0^{H(t)} x(\tau) d\tau, x_n(h(t))\right) - f\left(t, \int_0^{H(t)} x_n(\tau) d\tau, x_n(h(t))\right) \right| \\ &\leq k \sup_{t \leq T} |x(h(t)) - x_n(h(t))| + \nu_2^T(f, \bar{H}(T)) \cdot \sup_{t \leq T} |x(t) - x_n(t)|. \end{aligned}$$

Hence, in view of $\lim_{n \rightarrow \infty} \sup_{t \leq T} |x(t) - x_n(t)| = 0$ we get continuity of F on Ω .

Finally, taking into account the properties of the operator $F : \Omega \rightarrow \Omega$ established above and applying the classical Tikhonov fixed point theorem we infer that the operator F has at least one fixed point x in the set Ω . Obviously the function $x(t)$ is a solutions of the equation (4).

This completes the proof. \square

The assumption (H_4) of the above theorem seems to be too uncomfortable for direct applications therefore we will formulate this condition in more useful form. We start with the following lemma.

Lemma 3.2

If there exists a nondecreasing function $\psi_0 : \mathbb{R}_+ \rightarrow (0, \infty)$ satisfying two condition

$$\sup \left\{ \frac{A(t)}{\psi_0(t)} : t \geq 0 \right\} < \infty \quad (6)$$

and

$$\sup \left\{ B(t)H(t) \frac{\psi_0(H(t))}{\psi_0(t)} : t \geq 0 \right\} < 1 - k \quad (7)$$

then the inequality (3) has a solution.

Proof. Let us take $C > 0$ so big that

$$\sup \left\{ \frac{A(t)}{C\psi_0(t)} : t \geq 0 \right\} + \sup \left\{ B(t)H(t) \frac{\psi_0(H(t))}{\psi_0(t)} : t \geq 0 \right\} \leq 1 - k \quad (8)$$

and put $\psi(t) = C\psi_0(t)$.

Taking into account the inequality

$$\int_0^{H(t)} \psi(\tau) d\tau \leq H(t)\psi(H(t))$$

and the estimate (8) we obtain

$$A(t) + B(t) \int_0^{H(t)} \psi(\tau) d\tau \leq A(t) + B(t)H(t)C\psi_0(H(t)) \leq (1 - k)C\psi_0(t).$$

This completes the proof. □

Putting various functions for $\psi_0(t)$ we can generate many conditions ensuring solvability of the inequality (3). First let us consider the following assumption.

(H_5) there exist a nondecreasing continuous function $A : \mathbb{R}_+ \rightarrow (0, \infty)$ and a continuous function $B : \mathbb{R}_+ \rightarrow (0, \infty)$ such that

$$\sup \left\{ B(t)H(t) \frac{A(H(t))}{A(t)} : t \geq 0 \right\} < 1 - k$$

and the following inequality

$$|f(t, x, 0)| \leq A(t) + B(t)|x|$$

holds for each $t \in \mathbb{R}_+$ and $x \in \mathbb{R}$.

Observe, that the assumption (H_5) fulfills the conditions (6) and (7) of Lemma 3.2 for $\psi_0(t) = A(t)$, so applying Theorem 3.1 we get the following theorem.

Theorem 3.3

Under the assumptions (H_1), (H_2) and (H_5) the equation (4) has at least one solution $x \in C(\mathbb{R}_+)$.

Remark 3.4 This Theorem 3.3 improves [11, Theorem 1]. Indeed, applying notations from this paper and putting

$$A(t) = \sup_{s \leq t} a(s) \cdot \exp h(t), \quad B(t) = \exp(-H(t))$$

we can easily show that (H_5) is fulfilled. Moreover, let us observe that following conditions in [11] are needless:

$$\lim_{t \rightarrow \infty} h(t) = \infty, \quad \limsup_{t \rightarrow \infty} (t - h(t)) = \infty, \quad H(0) = 0,$$

and condition $a(t) \rightarrow 0$ when $t \rightarrow \infty$ can be replaced by boundedness of $a(t)$ for $t \geq 0$.

Now we give next sufficient condition for solvability of the inequality (3).

(H_6) There exist a nondecreasing continuous function $A : \mathbb{R}_+ \rightarrow (0, \infty)$ and a continuous function $B : \mathbb{R}_+ \rightarrow (0, \infty)$ such that

$$\sup \{B(t)H(t) \exp(A(H(t)) - A(t)) : t \geq 0\} < 1 - k$$

and the following inequality

$$|f(t, x, 0)| \leq A(t) + B(t)|x|$$

holds for each $t \in \mathbb{R}_+$ and $x \in \mathbb{R}$.

Taking $\psi_0(t) = \exp(A(t))$ and using Lemma 3.2 and Theorem 3.1 we get.

Theorem 3.5

Under the assumptions (H_1), (H_2) and (H_6) the equation (4) has at least one solution $x \in C(\mathbb{R}_+)$.

Lemma 3.6

If there exists a nondecreasing function $\psi_0 : \mathbb{R}_+ \rightarrow (0, \infty)$ satisfying two conditions

$$\sup \left\{ \frac{A(t)}{\psi_0(t)} : t \geq 0 \right\} < \infty \text{ and } \sup \left\{ \frac{B(t)}{\psi_0(t)} \int_0^{H(t)} \psi_0(\tau) d\tau : t \geq 0 \right\} < 1 - k \quad (9)$$

then the inequality (3) has a solution.

Proof. Let us take $C > 0$ so large that

$$\sup \left\{ \frac{A(t)}{C\psi_0(t)} : t \geq 0 \right\} + \sup \left\{ \frac{B(t)}{\psi_0(t)} \int_0^{H(t)} \psi_0(\tau) d\tau : t \geq 0 \right\} \leq 1 - k$$

and put $\psi(t) = C\psi_0(t)$. This implies

$$\frac{A(t)}{\psi(t)} + \frac{B(t)}{\psi_0(t)} \int_0^{H(t)} \psi_0(\tau) d\tau \leq 1 - k \quad \text{for } t \geq 0$$

and therefore

$$A(t) + B(t) \int_0^{H(t)} \psi(\tau) d\tau \leq (1 - k)\psi \quad \text{for } t \geq 0$$

what confirm that $\psi(t)$ is a solution of the inequality (3). This completes the proof. \square

Let us put $\psi_0(t) = \exp(ML(t))$ where $L(t) = \int_0^t (A(\tau) + B(\tau)) d\tau$ and M is enough big. The first part of (9) is satisfied if

$$\sup \left\{ A(t) \exp \left(- \int_0^t \exp(A(\tau)) d\tau \right) : t \geq 0 \right\} < \infty \text{ and } M > 1.$$

The second part of (9) takes form

$$\sup \left\{ B(t) \exp(-ML(t)) \int_0^{H(t)} \exp(ML(\tau)) d\tau : t \geq 0 \right\} < 1 - k \text{ for some } M > 1.$$

Now we can formulate next version of the assumption ensuring the solvability of (3).

(H₇) There exist continuous functions A and $B : \mathbb{R}_+ \rightarrow (0, \infty)$ such that the inequality

$$|f(t, x, 0)| \leq A(t) + B(t)|x|$$

holds for each $t \in \mathbb{R}_+$, $x \in \mathbb{R}$ and such that

$$\sup \left\{ A(t) \exp \left(- \int_0^t \exp(A(\tau)) d\tau \right) : t \geq 0 \right\} < \infty$$

and

$$\inf_{M>1} \sup \left\{ B(t) \exp(-ML(t)) \int_0^{H(t)} \exp(ML(\tau)) d\tau : t \geq 0 \right\} < 1 - k$$

where $L(t) = \int_0^t (A(\tau) + B(\tau)) d\tau$.

Applying Lemma 3.6 for $\psi_0(t) = \exp(ML(t))$ and Theorem 3.1 we have

Theorem 3.7

Under the assumptions (H₁), (H₂) and (H₇) the equation (4) has at least one solution $x \in C(\mathbb{R}_+)$.

Remark 3.8 Notice that Theorem 3.7 generalizes [4, Theorem 1]. Applying the notations from this paper and putting $A(t) = L_0(t), B(t) = \exp L_1(t)$ we can show, arguing similarly as in [4], that (H₇) is fulfilled. Moreover, the following assumptions in mentioned paper are unnecessary:

$$\lim_{t \rightarrow \infty} t \exp L_1(t) = 0, \quad \lim_{t \rightarrow \infty} (t - h(t)) = 0, \quad H(t) \geq t,$$

and the conditions

$$\lim_{t \rightarrow \infty} L_0(t) \exp \left(- \int_0^t L_0(s) ds \right) = 0 \quad \text{and} \quad \lim_{t \rightarrow \infty} (H(t) - t) = 0$$

can be weaken by boundedness of functions:

$$L_0(t) \exp \left(- \int_0^t L_0(s) ds \right) \text{ and } H(t) - t \text{ for } t \geq 0.$$

EXAMPLE 3.9 Let us consider the following neutral differential equation

$$y'(t) = \frac{x^3(\sqrt{t})}{(2t+3)(x^2(\sqrt{t})+1)} + \frac{t}{t^2+2}y(\exp(t^2)) + \frac{1}{t+1} \quad (10)$$

with the initial condition $y(0) = 0$. Observe that this problem is a particular case of the problem (1)-(2), where

$$f(t, x, y) = \frac{x^3}{(2t+3)(x^2+1)} + \frac{t}{t^2+2}y + \frac{1}{t+1}$$

and $h(t) = \sqrt{t}$, $H(t) = \exp(t^2)$. Let us put $A(t) = 1/(t+1)$, $B(t) = 1/(2t+3)$.

We show that there are satisfied the assumptions of Theorem 3.3. Indeed, we have

$$|f(t, x, 0)| \leq \frac{|x|^3}{(2t+3)(x^2+1)} + \frac{1}{t+1} \leq A(t) + B(t)|x|.$$

Moreover, the function $f = f(t, x, y)$ is continuous on the set $\mathbb{R}_+ \times \mathbb{R} \times \mathbb{R}$ and for arbitrary $t \in \mathbb{R}_+$, $x, y_1, y_2 \in \mathbb{R}$ we obtain

$$|f(t, x, y_1) - f(t, x, y_2)| \leq \frac{t}{t^2+2}|y_1 - y_2| \leq \frac{1}{2\sqrt{2}}|y_1 - y_2|.$$

This shows that the function $f(t, x, y)$ satisfies the Lipschitz condition with respect to y with the constant $k = \frac{1}{2\sqrt{2}}$. Notice that

$$\sup \left\{ B(t)H(t) \frac{A(H(t))}{A(t)} : t \geq 0 \right\} = \sup \left\{ \frac{\exp(t^2)(t+1)}{(2t+3)(\exp(t^2)+1)} : t \geq 0 \right\} = \frac{1}{2} < 1 - k.$$

This confirms that (H_5) is satisfied. Summing up all the above facts, in view of Theorem 3.3 we conclude that the problem (10) with $y(0) = 0$ has a solution $y = y(t)$.

Let us observe that the function $H(t)$ and $h(t)$ do not satisfy the condition $H(t) \leq m \exp(h(t))$, $m > 0$ from [11, Theorem 1] and the condition $\lim_{t \rightarrow \infty} (H(t) - t) = 0$ from [4, Theorem 1].

References

1. R.P. Agarwal, D. O'Regan, and P.J.Y. Wong, *Positive Solutions of Differential, Difference and Integral Equations*, Kluwer Academic Publishers, Dordrecht, 1999.
2. O. Arino and M. Pituk, Convergence in asymptotically autonomous functional differential equations, *J. Math. Anal. Appl.* **237** (1999), 376–392.
3. J. Banaś, *Applications of Measures of Noncompactness to Various Problems*, Zeszyty Nauk. Politechn. Rzeszowskiej Mat. Fiz. **5**, Rzeszów, 1987.
4. J. Banaś and I.J. Cabrero, On solutions of a neutral differential equation with deviating argument, *Math. Comput. Modelling* **44** (2006), 1080–1088.
5. J. Banaś and K. Goebel, *Measures of Noncompactness in Banach Spaces*, Lecture Notes in Pure and Applied Mathematics **60**, Marcel Dekker, New York, 1980.
6. J. Banaś and U. Stopka, The existence and some properties of solutions of a differential equation with deviated argument, *Comment. Math. Univ. Carolin.* **22** (1981), 325–336.

7. J. Čermák, On the asymptotic behaviour of solutions of certain functional-differential equations, *Math. Slovaca* **48** (1998), 187–212.
8. S. Czerwik, The existence of global solutions of a functional-differential equation, *Colloq. Math.* **36** (1976), 121–125.
9. L.J. Grimm, Existence and uniqueness for nonlinear neutral-differential equations, *Bull. Amer. Math. Soc.* **77** (1971), 374–376.
10. L. Olszowy, On existence of solutions of a quadratic Urysohn integral equation on an unbounded interval, *Comment. Math. Prace Mat.* **48** (2008), 103–112.
11. W.G. El-Sayed, Solvability of a neutral differential equation with deviated argument, *J. Math. Anal. Appl.* **327** (2007), 342–350.
12. B. Shi, M.J. Gai, D.C. Zhang, and J.C. Zhai, Global attractivity in nonlinear differential equations with delays, *Nonlinear Anal.* **47** (2001), 4071–4082.
13. M. Zima, *Positive Operators in Banach Spaces and Their Applications*, Wyd. Uniw. Rzeszowskiego, Rzeszów, 2005.